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1 Fill in the following blanks with the correct answers.
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(—2r%)+ (-xy®)’ =

The solution of an exponential equation, 4* —2**'—~15= 0, is

The largest solution of a triangle equation,

2c08*x+3sinx—-3=0(0"=zx= 180°), is

If asequence,a1=1,a2=2, a3 =05, as = 10, @5 = 17, ---_ then

as =

Let f(x)=x*-2r—3 and g{x)=x%+ax+5b.

The graph of y =f (z) shows a parabola whose vertex is

(1@ @ ).
When £ (z)=0, z = @ or @
When a= | and b= |® . then the graph

shown by shifting the graph of y =f(z) by +1 on the X axis and by +2

on the Y axis, agrees with the graph of ¥y =g (x).



ivv  When a= [ and b= |@ , the ranges of x,

which satisfy the two inequalities, f(x)<0 and g(x)>0, at the same

time,are—1<x<land2<x<3. -

(v) Differential coefficient 7' (3) = |@ , and definite integral

]O‘Bf;(x)dx= @ ‘

On the plane x¥, as shown in the Figure, the equation of line AB is ¥ = 3x +4,
line AC is perpendicular to line AB and £ABC =2,

Fill in the following blanks with correct answers.

¥
tana = )
A
sing = _ 5 /2 \C
/! I
The x-coordinate of point C is .
The equation of line ACis¥ =
If point M is the middle point of segment BC, then
vector m= © E—i— ® K(?

and the scalar product of two vectors MA * AC= ®




3 Twelve graphs of ¥ =ax?+bx +¢, O~ are shown below.
Six conditions for @, b, ¢ and b?—4ac are listed in the table.
Choose the correct graph from D ~@2 to satisfy each condition and fill in the

each blank with the number.

a b ¢ b*—4ac Graph

(1) 0 — + +

(2) — 0 — —

(3) + + 0 -+

(4) — + — 0

| (5) — + — +

(6) + — + —
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